

Market Value Summary:

	Current Period	Year to Date
Beginning Balance	\$12,030,046.61	\$11,521,244.58
Contributions	\$602,530.79	\$762,461.49
Withdrawals	(\$80,000.00)	(\$320,000.00)
Transfers In/Out	\$0.00	\$0.00
Income	\$9,275.69	\$32,717.79
Administrative Expense	(\$164.47)	(\$957.20)
Investment Expense	(\$263.09)	(\$2,560.09)
Investment Manager Fees	(\$13.66)	(\$436.66)
IFA Loan Repayment	\$0.00	(\$9,082.01)
Adjustment	(\$475.10)	(\$475.10)
Realized Gain/Loss	\$13.17	\$4,486.29
Unrealized Gain/Loss	(\$171,756.53)	\$401,794.32
Ending Balance	\$12,389,193.41	\$12,389,193.41

Performance Summary:

	MTD	QTD	YTD	One Year	Three Years	Five Years	Ten Years	Inception to Date	Participant Inception Date
Net of Fees:	(1.33%)	(0.45%)	3.83%	N/A	N/A	N/A	N/A	10.65%	10/03/2022

Contact Information: Illinois Police Officers' Pension Investment Fund, 456 Fulton Street, Suite 402 Peoria, Illinois 61602 Phone: (309) 280-6464 Email: Info@ipopif.org



Market Value Summary:

	Current Period	Year to Date
Beginning Balance	\$333.78	\$19,380.39
Contributions	\$0.00	\$0.00
Withdrawals	\$0.00	\$0.00
Transfers In/Out	(\$328.11)	(\$20,184.56)
Income	\$1.32	\$24.53
Administrative Expense	\$0.00	\$0.00
Investment Expense	\$0.00	\$0.00
Investment Manager Fees	\$0.00	\$0.00
IFA Loan Repayment	\$0.00	\$0.00
Adjustment	\$0.00	\$0.00
Realized Gain/Loss	(\$6.68)	\$624.52
Unrealized Gain/Loss	(\$0.31)	\$155.12
Ending Balance	\$0.00	\$0.00

Unit Value Summary:

	Current Period	Year to Date
Beginning Units	36.785	2,219.687
Unit Purchases from Additions	0.000	228.417
Unit Sales from Withdrawals	(36.785)	(2,448.104)
Ending Units	0.000	0.000
Period Beginning Net Asset Value per Unit Period Ending Net Asset Value per Unit	\$9.073836 \$0.000000	\$8.731284 \$0.000000

Performance Summary:

MILAN POLICE PENSION FUND

	MTD	QTD	YTD	One Year	Three Years	Five Years	Ten Years	Inception to Date	Participant Inception Date
Net of Fees:	0.00%	0.00%	0.00%	0.00%	0.00%	0.00%	0.00%	0.00%	10/14/2022

Contact Information: Illinois Police Officers' Pension Investment Fund, 456 Fulton Street, Suite 402 Peoria, Illinois 61602 Phone: (309) 280-6464 Email: Info@ipopif.org



Market Value Summary:

	Current Period	Year to Date
Beginning Balance	\$12,029,712.83	\$11,501,864.19
Contributions	\$602,530.79	\$764,500.47
Withdrawals	(\$80,000.00)	(\$320,000.00)
Transfers In/Out	\$328.11	\$18,145.58
Income	\$9,274.37	\$32,693.26
Administrative Expense	(\$164.47)	(\$957.20)
Investment Expense	(\$263.09)	(\$2,560.09)
Investment Manager Fees	(\$13.66)	(\$436.66)
IFA Loan Repayment	\$0.00	(\$9,082.01)
Adjustment	(\$475.10)	(\$475.10)
Realized Gain/Loss	\$19.85	\$3,861.77
Unrealized Gain/Loss	(\$171,756.22)	\$401,639.20
Ending Balance	\$12,389,193.41	\$12,389,193.41

Unit Value Summary:

	Current Period	Year to Date
Beginning Units	1,206,581.707	1,212,782.248
Unit Purchases from Additions	60,987.963	79,359.456
Unit Sales from Withdrawals	(8,106.028)	(32,678.062)
Ending Units	1,259,463.642	1,259,463.642
Period Beginning Net Asset Value per Unit Period Ending Net Asset Value per Unit	\$9.970077 \$9.836881	\$9.483855 \$9.836881

Performance Summary:

MILAN POLICE PENSION FUND

	MTD	QTD	YTD	One Year	Three Years	Five Years	Ten Years	Inception to Date	Participant Inception Date
Net of Fees:	(1.33%)	(0.45%)	3.83%	N/A	N/A	N/A	N/A	9.75%	10/21/2022

Contact Information: Illinois Police Officers' Pension Investment Fund, 456 Fulton Street, Suite 402 Peoria, Illinois 61602 Phone: (309) 280-6464 Email: Info@ipopif.org

Statement of Transaction Detail for the Month Ending 05/31/2023

MILAN POLICE PENSION FUND

Trade Date	Settle Date	Description	Amount	Unit Value	Units
Transition Pool					
05/25/2023	05/26/2023	Transfers Out	(328.11)	8.919671	(36.7853)
IPOPIF Pool					
05/01/2023	05/01/2023	Emerging Market Debt Adjustment	(475.10)	9.970075	(47.6526)
05/03/2023	05/04/2023	Contribution	392,530.79	9.910694	39,606.7914
05/12/2023	05/15/2023	Redemptions	(80,000.00)	9.927560	(8,058.3749)
05/24/2023	05/25/2023	Contribution	210,000.00	9.837097	21,347.7614
05/25/2023	05/26/2023	Transfers In	328.11	9.820810	33.4097